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K.G , Subject : English
Question Pattern & Marks Distribution
C.T +T.T+S.E (25+20+80) =125-20%=100
1.Word Meaning :
2. Make Sentence
3. Fill in the gaps
4. Translate into Bengali
5. Translate into English
6. Answer to the question
7. Writing Conversation
8. Re-arrange
9. Name of Flowers/Fruits/Birds/Animals/Foods/Dresses.
10. Rhymes
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1 Terminal Examination :
Active English: Page (3-10) (16-22) 35,36.
Nursery Rhymes: Page (3-9)

2™ Terminal Examination :
Active English: Page (11-15) (23-36).
Nursery Rhymes: Page (10-16)

Annual Examination :
1** and 2™ term revision.
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